Name: Set: Group:

Outline and explain two ways in which sociologists believe the education
system serves the needs of modern industrial society. (10 marks)
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Marks and comments
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Level descriptors

8-10

Answers in this band will show very good knowledge and understanding of the topic.
There will be two applications of relevant material.
There will be appropriate analysis.

Answers in this band will show a reasonable to good knowledge and understanding of the topic.
There will be one or two applications of relevant material.
There will be some basic analysis.

Answers in this band will show limited knowledge and understanding of the question or the material.
There will be limited focus on the question, eg there may be some drift into accounts of religion in
general.

There will be limited or no analysis.

No relevant points




